Quiz 15

Assume RHO is the Declarer, Hearts are trump and no other suit was bid. Prioritize
your leads from 1 (highest) to 3 (lowest); each lead must be from a different suit.
The first hand is completed as an example.

Your Hand | Your Lead Your Hand | Your Lead
1. | & AK6 1. &A 2. | 4QJT3 1.
¥ 95 2. K ¥ K642 5
¢ KQ72 3 & ¢ J643 —
»T872 T &5 3.
3. |65 1. 4. | 4KQJ42 1.
v A4 5 ¥ 1873 5
¢ K82 e ¢ 853 —
%J97652 3. &5 3.
5. |4 AQ72 1. 6. | 8 KT 1.
¥ 852 5 ¥ AK5 5
¢ KJO — ¢ 786532 —
® AT7 3. % 84 3.




